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Verbal expression algebraically - equation - sum

Write each as an algebraic expression.

1) 9 morethan ais47

3) 8 morethan nis 26

5) thesum of zand 8isequal to 8

7) bplus5isequa to 16

9) nincreased by 6is12

11) 7 morethanw is6

13) anumber plus 9 isequal to 45

15) 5 more than anumber is 28

17) 12 more than anumber is11

19) mplus8is44

21) thesum of nand 10is 33

23) x increased by 8is43

25) 11 morethanv is43

27) x plus7isequal to 42

29) thesum of r and 5isequal to 39

2) anumber plus 10is 40

4) nincreased by 7is37

6) zplus12isequal to 19

8) 10 morethancis4l

10) the sum of anumber and 6 is48

12) anumber increased by 9isequal to 6

14) anumber plus 11 isequal to 32

16) thesum of r and 11 isequal to 34

18) uincreased by 11is12

20) cincreased by 5isequal to 9

22) the sum of nand 12 is equal to 50

24) anumber plus 6 isequal to 47

26) anumber increased by 10 is equal to 10

28) 6 more than anumber is equal to 44

30) anumber increased by 12 is 22
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Verbal expression algebraically - equation - sum

Write each asan algebraic expression.

1) 9 morethan ais47
a+9=47

3) 8 morethannis 26
n+8=26

5) thesum of zand 8isequa to 8
z+8=8

7) bplus5isequa to 16
b+5=16

9) nincreased by 6is12
n+6=12

11) 7 morethanw is6
w+7=6

13) anumber plus 9 isequal to 45
n+9=45

15) 5 more than anumber is 28
n+5=28

17) 12 more than anumber is11
n+12=11

19) mplus8is44
m+8=44

21) thesumof nand 10is 33
n+10=33

23) x increased by 8is43
X+8=43

25) 11 morethanv is43
v+11=43

27) x plus7isequal to 42
X+7=42

29) thesum of r and 5isequal to 39

r+5=39

2) anumber plus 10is 40
n+10=40

4) nincreased by 7is37
n+7=37

6) zplusl12isequal to 19
z+12=19

8) 10 morethancis4l
c+10=41

10) the sum of anumber and 6 is48
n+6=48

12) anumber increased by 9isequal to 6
n+9=6

14) anumber plus 11 isequal to 32
n+11=32

16) thesum of r and 11 isequal to 34
r+11=34

18) uincreased by 11is12
u+11=12

20) cincreased by 5isequal to 9
c+5=9

22) the sum of nand 12 is equal to 50
n+ 12 =150

24) anumber plus 6 isequal to 47
n+6=47

26) anumber increased by 10 is equal to 10
n+10=10

28) 6 more than anumber is equal to 44
n+6=44

30) anumber increased by 12 is 22
n+12=22
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